/N
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107. An electric circuit consists of a variable
resistor connected to a source of constant
potential difference. If the resistance of the
resistor is doubled, the current through the
resistor is

CA)_halvedD B) doubled

C) quartered D} quadrupled

R

108. In a simple electric circuit, a 24-ohm resistor is
connected across a 6.0-volt battery. What is the

cutrent in the circuit?

A) 1OA
C) 140 A D) 4.0 A
R v
N 56V 1’/% Elya .
__\,_’7

109. What is the current in a 100.-ohin resistor
connected to a 0.40-volt source of potential

difference?

A) 250 mA B) 40. mA

C) 2.5 mA
1 NP
R, =100 —L’/S"\ 00" JOSUA
N s HY = Ymh

110. A 6.0 ohm resistor that obeys Ohm's Law is
connected to a source of variable potential
difference. When the applied voitage is
decreased from 12 V to 6.0 V, the current
passing through the resistor

A) remains the same
B) is doubled

@ ishaved)
D) is quadrupled

111.1In a flashlight, a battery provides a total of 3.0
volts to a bulb. If the flashlight bulb has an
operating resistance of 5.0 ohms, the current
through the bulb is

A) 030 A
C) 15A

B) 0.60 A
D) 1.7A

TN BN
" 50‘ L)A

112. In a simple electric circuit, a 110-volt electric
heater draws 2.0 amperes of current. The
resistance of the heater is

A) 00180 B) 28 Q
C) 550 D) 220 Q
NEAN

TN RAEIWEL SO
%

113. How much current flows through a 12-ohm
flashlight bulb operating at 3.0 volts?

(R 025A> B OTSA
0304 D) 40 A
T3 2 gk
2D

[14. What is the current through a 25 ohm resistor
connected to a 5.0 volt power supply?

(A) 020A> B) 5.0 A
C) 25A D) 30. A
VNS
RS 25 .

115. What is the potential difference across a
2.0-ohm resistor that draws 2.0 coulombs of
charge per second?

A) 10V B) 2.0V

C) 3.0V D) 40V
N=7 \ =1
R A R

= /(2]
=N
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[16. A 20.-ohm resistor has 40. coulombs passing
through it in 5.0 seconds. The potential
difference across the resistor is

A) 80V B) 100V
D) 200 V

K- NS
z40C 2t - gA A% g
117. The ratio of the potential difference across a

conductor to the current in the conductor is
called

A) conductivity

C) charge D) power

V.
/fwﬂ

118. If the potential difference across a 12-ohm
resistor is 4 volts, the current through the

resistor is
B) 12 A
C) 3A D) 4 A
NESN Ny LW
P\f‘%} o Xs /fp\\aﬂ, 355

[19. A lafnp has a current of 2.0 amperes at 6.0
volts. The resistance of the lamp must be

A) 159 B) 6.00
C) 3.08 D) 129

TmaA

N/
N =N ?'& ah 35

120. The resistance of a circuit remains constant.
Which graph best represents the relationship
between the current in the circuit and the
potential difference provided by the battery?

A)

e
g
5
©
Potential
Difference
B) - I _ \/
g K.
S
Q
Potential
Difference
9
t
2
=3
&)
Potential
Difference

Potential
Difference
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121. A constant potential difference is applied
across a variable resistor held at constant
temperature. Which graph best represents the
relationship between the resistance of the
variable resistor and the current through it?

K

Resistance

.

Resistance

L4

Resistance

1

Resistance

Current

B)

Current

Current

Current

122. The graph below shows the relationship

123.

between current and potential difference for
four resistors 4, B, C, and D.

§ A
E B
i c N
8 fﬁR
o A
= D g\‘)@ﬁl
&
5
o
CURRENT

Which resistor has the greatest resistance?

ByB CC D)D

Base your answer to the following question on
the graph below which represents data obtained
by applying different potential differences to a
metallic conductor at a constant temperature.

AV ¥ RN N & )

RN

AMPERES

O

2 4 6 8 10

The resistance of the conductor is

approximately

A) 100

0) 0,50 D) 400
BN 6V Q50

UA-YA  BA
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124. Base your answer to the following question on
the accompanying graph which shows the data
collected for a copper wire at a constant
temperature.

o

Amperes
B
N

yd

2 4 =} 8 18]
Volts
The resistance of the wire is closest to
@D oo
C) 0592 D) 40

RV




